Key Stage 2 National Curriculum Tests - Practice Paper - Arithmetic
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1| 949  + 100 =
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3| 52 + 0.4 =
al 26 x 3 =
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13 3 2 _
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15| 10 x 100 =
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20/ 8374 + 3,983 =
21| 6510 + 5
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23 26
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24| 136 - 794 =
25 13[ 3,016
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28| 325,226 - 37,492 =
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31] 20 - 5 x 3 =
32 2
S : 2
33 1 1 B 1 )
4 2
34 29 1392
3B 3 5
4 * 8 B
36 3
6 N 2 -

Copyright 2016 Emaths | www.emaths.co.uk | For Free Educational Use Only



Key Stage 2 National Curriculum Tests - Practice Paper - Arithmetic

Answers
1 1,049
2 264
3 5.6
4 78
5/ 1,555
6 8
7 377
8| 1.65
9 120
10| 2/7
11 60
12 143
13 9
14| 29,600
15| 1,000
16 90
17 320
18 5.84
19 7/9
20| 12,357
21| 1,302
22 5.98
23| 1,118 Long multiplication method required
24| 5.66
25 232 Long division, method required
26| 1/21
27 304
28| 287,734
29| 16,206 Long multiplication method required
30, 28.5 Preferably written as a mixed number, rather than a decimal
31 5
32 1/9
33 3/4 or equivalent
34 48 Long division, method required
35(1 3/8
36 1/4 or equivalent
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